= o
N & o & AF & H A A
2018 & =04 LEHSIH MEAE
FAM: HEdsh
Hu: EUASHE
ool NYHSHE U d254 CER-ED
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ME&sH 50,862, 168 44,443,691 6,418,477
Xl 16,140,532
J| 3,518,500
< 30,178,136
£ 1,025,000
SHEHNSME 50,813,958 44,393,339 6,420,619
X 16,140,532
J| 3,518,500
< 30,129,926
£ 1,025,000
ILgHsdsgE & d+=4 8,851,775 8,010,257 841,518
= 8,326,775
£ 525,000
TE IS8 84 2,911,918 2,322,800 589,118
= 2,386,918
g2 525,000
201 et 57,845 320,000 A 262,155
01 At 2teltl 57,845 320,000 A 262,155
OZHN=E &84 B3U =258 S 7,845
O EN=E & dE 50,000
301 L2 AF 2,100,000 2,000,000 100,000
Vo=t - 2SRES243 2,100,000 2,000,000 100,000
OEN=E 54 & d==2te| 2,100,000
405 THebH S| 754,073 2,800 751,273
< 229,073
g 525,000
01 AL =2 S FH S| 754,073 2,800 751,273
OZHASY 824 FI 2 S(HMEZ 10
%) 4,073
OZEN=E =4 e 750,000
< 225,000
£ 525,000
A2 HSE s4 5,750,000 5,600,000 150,000
308 XXIEH S0 A 5,750,000 5,600,000 150,000
01 IXNHHBNEES 5,750,000 5,600,000 150,000
OAl - 2388 584 5,750,000
MEXEA 22| 30,000 30,000 0
201 Let2d] 30,000 0 30,000
03 A2 Z Hl 30,000 0 30,000
OMESXNEZX A==dl (0l E2) 30,000
MEIH g4 HHUEA 25 159,857 57,457 102,400
201 L2l 141,300 29,000 112,300




R s R SE=an);
HH: BLUSTE
ool NYHSHE ¥ H+54 (sl &2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 68,500 13,500 55,000
OM=sAEEAZ 2F (0 &&= 10%) 13,500
OMsLd ZEI| 5H4A(2019-2023) H & At
&gl 55,000
03 &Ar2 Gl 72,800 15,500 57,300
O4S HHOItHI0l 2 (olarE ) 22,800
02020 SST2MsSUE HEE 28 SHS (1
500 A2 =3l) 50,000
203 YR =&l 5,957 5,957 0
03 AIMF=XH R =AH| 5,957 5,957 0
OMSTEMHISZX (M AEHZ 5%) 2,708
OMSXNALLSFX (0 &EY 5%) 3,249
301 et A3 12,600 22,500 29,900
09 EALEHIE &S 12,600 22,500 29,900
O4S HEO0totdIol AR AHIZ A (0 &E 2 1
0%) 12,600
HEHS & dEH=s |4 17,060,276 15,301,361 1,758,915
J| 2,801,662
< 13,758,614
g2 500,000
=3 29 2,122,000 1,980,000 142,000
307 21201 A 2,122,000 1,980,000 142,000
03 BIAHMEHE2HHIES 2,122,000 1,980,000 142,000
OM=z 22 2,122,000
MECH XN& & d+=54 9,444,000 8,671,000 773,000
= 8,944,000
£ 500,000
307 gl2tol & 8,344,000 7,471,000 873,000
02 It M AHE L 8,344,000 7,471,000 873,000
OF=(Ad)NEUHa XA 2,100,000
OsEiH=s Sg322 2= 100,000
O=EETU MEMS(ZI) 843t 45,000
OsEgEUMsUHs X 180,000
OHAESCH & dx=4(MaEY) 5,000,000
OM=0z Mz & FIHXA 631,000
OxM=sdsE & 2 Mns X 288,000
308 AHAIEHSOIA 1,100,000 1,200,000 100,000
< 600,000
£ 500,000
01 HIXNHHNBMNELS 600,000 700,000 A 100,000
OZCIX=CHEl JHE X (EHCH) 600,000
08 WFJ 20Ut E=x 500,000 500,000 0




R s R SE=an);
BH: BUHSAE
Celr MEHS U MENS S4 (el @2)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
OMs3UR =54 500,000
£ 500,000
HEXNZX 22 (%) 1,048,680 1,013,880 34,800
307 glz2+ol & 1,048,680 1,013,880 34,800
02 QAFHAANHEEE 1,048,680 1,013,880 34,800
OXEM=EXNE X 2l 1,016,520
OMENE ZENX 29 (24Y) 32,160
HMEXNE=X 22 (012,20FL8) 56,000 117,262 AB1,262
J| 25,094
= 30,906
307 glz2tol & 56,000 117,262 AB1,262
J| 25,094
S 30,906
02 It MAMHEE 56,000 117,262 AB1,262
O Hzdded=sisl 56,000
J| 25,094
= 30,906
MSXZX 22012, A28 4) 3,884,967 3,213,129 671,838
J| 2,776,568
< 1,108,399
308 XtXIEHHSOIA 3,884,967 3,213,129 671,838
J| 2,776,568
= 1,108,399
01 X HHILEES 3,884,967 3,213,129 671,838
Ot S Xt i XA 1,574,892
Jl| 1,049,928
= 524,964
Oz2aMaSX A XA 1,459,656
J| 973,104
< 486,552
OAZ=2H 0/2H X 850,419
J| 753,536
< 96,883
HMEXEX2el (M AlZEX) 343,209 306,090 37,119
308 XX EHH SOl A 343,209 306,090 37,119
01 HXNHHNBHELS 343,209 306,090 37,119
OdEds=ZzId 22 90,000
OMEMSXNE X HR2IHAH] 253,209
NAAZ=NSHE 2 (SHEEXH) 89,420 0 89,420
307 21201 A 89,420 0 89,420
02 QB AAHEX 89,420 0 89,420
O NEAZ=sdH 2 X 89,420
HetHEH s 72,000 0 72,000
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M MsSAEL
M SENEIE
ool ZOjQHS S4 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Jl 53,620
== 79,853
02 AI2tAAMAIEE =X 133,473 130,981 2,492
O&e MEHNS XZXAIY 133,473
Jl 53,620
= 79,853
HOojo MEHSES L2 AZEY) 844,452 714,618 129,834
Jl 562,968
== 281,484
308 XX SHHSOIH 844,452 714,618 129,834
Dl 562,968
& 281,484
01 AIXHMBAEXZ 844,452 714,618 129,834
O&oel MeEd=s AN XAFY 844,452
Jl 562,968
< 281,484
HOojo MEHE SEH (KA, BEX) 46,800 37,786 9,014
308 AXISHXSOoIH 46,800 37,786 9,014
01 AXHNBMNEXTZ 46,800 37,786 9,014
OHOMR MEXNZX HKLIMHAH 46,800
SYHMAM=UE HEX X 120,000 120,000 0]
308 XX SHAMSOIHA 120,000 120,000 0
01 HXHHNBIMNEXTS 120,000 120,000 0
OsE &M MsUE MHEX K& 120,000
ALXAMA FH 424 350 439,000 AN 14,650
Dl 71,250
== 353,100
AT IAAD B L (AL AY M2ola oM I 71,250 70,000 1,250
)
Dl 71,250
308 AXISHXSO0IH 71,250 70,000 1,250
Jl 71,250
01 HXHNBMNEXTZ 71,250 70,000 1,250
OAZ MY Mol AHASA 71,250
Dl 71,250
ATXOIAEY =X 353,100 369, 000 A 15,900
201 et A | 8,100 9,000 A 900
01 At 22l ] 8,100 9,000 A 900
OAZAMAMY HE UWERAI(HAZEZ 10%) 8,100
308 XX SHHSOIA 345,000 175,000 170,000
01 AIXHMBAAEXZ 345,000 175,000 170,000
OuH ==x0IctEUE X 100,000




R s R SE=an);
Hu: EYUNSHE
ool ARINY R4 (S5 &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OAMEZI &= B Hal 20,000
O34 Scllat € EY 23 15,000
O&=0sa |X & Mz X2 170,000
OR&z OtctEdsl X& 40,000
HEIIBAE =5 & XA 20,277,532 16,911,000 3,366,532
Xl 16, 140,532
< 4,137,000
SOHEANE 25 & B2 1,075,000 975,000 100,000
403 A X EHHS =0l A 1,075,000 975,000 100,000
01 X SHHX2E = 1,075,000 975,000 100,000
OZSN=UE ANEE=ES 900,000
O ZMHAM=EUE ANLdEFEZ 75,000
OZR(MENME SE2Z0 e A2 100,000
ATRE MEANSAE ¥ 242 1,662,000 1,942,000 280,000
403 MHXISHE X201 H 1,662,000 1,942,000 280,000
01 HXISH A =L F 1,662,000 1,942,000 280,000
OHYZ ZHSSH AL HA(FUEO) 50,000
ORSMSHE 22 (FUEA) 100,000
OL7A2 HSAME HES> S 1,512,000
HEHsSAXd 930,000 450,000 480,000
Xl 930,000
403 Ut SHHSA=0l& 930,000 450,000 480,000
Xl 930,000
01 X SHMA=E X 930,000 450,000 480,000
OAHE gdel UsHLEEMs3E =4 300,000
Xl 300,000
O2d SHYN=S3ExLH 90,000
Xl 90,000
OHe dEMs3d =4 540,000
Xl 540,000
NEHEALXA 12,244,000 6,882,000 5,362,000
Xl 12,244,000
403 MtXISHH S0l & 12,244,000 6,882,000 5,362,000
X 12,244,000
01 AXISHHA=2E = 12,244,000 6,882,000 5,362,000
Ol SHIUSISIAZIMH HE 1,280,000
Xl 1,280,000
OBgAnx=m3a 24 1,100,000
Xl 1,100,000
O ZHHUAZ HIIJIEXES &X 390,000
Xl 390,000
Otfeta Ut s2 A 1,500,000




R s R SE=an);
Hu: EYUNSHE
Sel HSIIBAS 25 L XY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 1,500,000
o3¢z sg=2sd FH 290,000
Xl 290,000
OOtah BHE XS 2 AE 2,434,000
X 2,434,000
OFY USRAUNSs2 A 1,095,000
Xl 1,095,000
O2d HEds2 Jl 90,000
X 90,000
OEg REZIHE B 600,000
Xl 600,000
OA¢ S22 HUAE HIHESHRX &X 720,000
X 720,000
OMd 22 =4 450,000
Xl 450,000
OMAE HLUAZ Z= & AMd DA 300,000
Xl 300,000
OM& SZotxns =7 E= 300,000
Xl 300,000
Otlst Sg2sd dZE Jl 195,000
Xl 195,000
Oll4 S22 = UEAY 900,000
Xl 900,000
OREHHEHEIR S LM 390,000
Xl 390,000
OR&HE (Fa2l)0r7E &MY 210,000
Xl 210,000
EsHUBUNSANEXNH 1,400,000 2,800,000 A 1,400,000
Xl 1,400,000
403 UHXSHHSA=0l& 1,400,000 2,800,000 A 1,400,000
Xl 1,400,000
01 HXSHMA=LE X 1,400,000 2,800,000 A 1,400,000
O3 gtZxsstuzsd 350,000
Xl 350,000
OZ22=F HiLssw 2% 350,000
Xl 350,000
OM& 2420 23F 350,000
Xl 350,000
Ogd tdus & XdE & 350,000
Xl 350,000
COAAMSAE EH 150,000 750,000 600,000
Xl 150,000
403 A X EHHS =0l A 150,000 750,000 A 600,000
Xl 150,000
01 X EHHMA=ZLE L 150,000 750,000 A 600,000
O3 A=E HOIESE E 90,000




2A4: MEIEDL
HM: SEHHFIE
Sel HSIIBAS 25 L XY (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al 90,000
Ol 222MUEL HOESH HIIIIHAE 60,000
N 60,000
HMEALE UXAILEEX 22 (BTL) 1,116,532 1,282,000 A\ 165,468
N 1,116,532
308 XAHXIGH SO0l & 1,116,532 1,282,000 A\ 165,468
N 1,116,532
01 AIXSHHENEXZ 1,116,532 1,282,000 A\ 165,468
OHAOIME S MEH S22 X4H(BTL) 540,000
Xl 540,000
OOtatAl LA &2 =& (BTL) 576,532
N 576,532
SHAZTIMAHAEY 1,700,000 0 1,700,000
Xl 300,000
& 1,400,000
401 AlEHI 2 2 0HY| 1,700,000 0 1,700,000
Xl 300,000
&< 1,400,000
01 Al&H| 1,700,000 0 1,700,000
OSYAIIXHME ZAAY 1,700,000
Xl 300,000
= 1,400,000
MEH = 23t 205,500 140,000 65,500
MEH=E 243 205,500 140,000 65,500
207 I & 40,500 0 40,500
01 A& | 40,500 0 40,500
OSHEIE0 MEHS SFTHAHEZAH(OAIE 2
10%) 40,500
308 XHXIGHH SO0l & 115,000 140,000 A 25,000
01 AIKISHHENEXZ 115,000 140,000 A 25,000
OMHE= 43 K& 50,000
OMeE=wa 29 10,000
OM=sgs XN 25,000
OHN23 el =2 MEH X AU 20,000
OMEI= MEawa 29 10,000
403 XX SRS K20| & 50,000 0 50,000
01 MXHHXNE2BE =X 50,000 0 50,000
OMdEtH=s JsEd 50,000
HHSAAY (MSEEY) 48,210 50,352 A2, 142
J2ddH(HsSEY) 48,210 50,352 A2, 142
Jl2dd (HE&EW) 48,210 50,352 A2, 142
201 et 22,680 23,940 A 1,260
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